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<INSTRUCTIONS TO CANDIDATES
Y 1. This paper consists of 3 sectionsA, B & C.
¢ 2. Answer dl questionsin section A & B
Qo‘ 3. Answer any two questionsin section C in the spaces provided.
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SECTION A (30 Marks)

Q

Answer all thequestionsin this secti(%tﬁn the spaces provided.

)

N
1. Givefour characteristics g‘qgl antation farming. (2 marks)

4. State two ways in which good transport and communication system influence agriculture
production. ( 1 mark)

8. Give reasons why the following field practices are carried out in crop production. (3 marks)
i) Rogueing
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(i)  Pricking out &
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9. Listsix Ag(i@ultural support services available to the farmers. (3 marks)

2
.......................... .Q
................... 0,

il
........... L
&
g
T,
@‘e ............................................................................................................................................................................
< 10. Give three ways in which pruning helps in control of diseasesin crops. ( 1 %2 marks)

11. List two types of weeds that cause the following effects.
(1) Lower the quality of agricultural products. ( 1 mark)

(i) Irritate the workers hence lowering their efficiency. (1 mark)

(i)  Poisonousto livestock (1 mark)
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15. State four advantages of raising teabéedli ngs in polythene sleeves. (2 marks)
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16. List three aspects of t WhICh have influence on crop production. ( 1 %2 marks)
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@QSECTION B (20 Marks)
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\\
Qo‘ 18. The diagram below shows atype of asilo. Useit to answer the questions that follow.

b) Givetwo waysin which temperature can be reduced in the above structure during silage
making. (2 marks)
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19. Mr. Kamau intends to increase his dafty herd from 4 to 6. He intends to change 1 hactare of land from
maize production to keep his twaéxtra cows. Each cow requires the purchase of areplacement heifer
each year at 3000 ksh milk yi qgafor each cow is 3000 kg per year, price of milk is 20 ksh per kg. Each
cow gives birth to acalf worth 500 ksh every year. Veterinary service charge per cow is 600 ksh per

year while the cost of congéntrate and minerals per cow is 360 ksh per year. The seeded preparation cost
for maize production iskshs 1,500 per ha. Planting and fertilizer cost maize are shs 500 per ha ad 2700
per harespectivel AP%St control cost for stalkborer is shs 300 per ha, weeding cost is shs 600 per ha,
while the cost of hBarvesting maize is sh 600 per ha. Maize yield is 40 bags per ha, and the maize priceis
shs 800 per b@@.K
N
,&a}a) Prepare the partial budget for Mr. Kamau’s plan. (Show your working) (8 marks)

b) State whether the change is worth while (2 marks)
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20. Study the diagrams and answer the gﬂ%ﬂi ons that follow.
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a) ldentify weeds A and B. (2 marks)
A

B
b) Classify weed A according to lifecycle. (1 mark)

d) Giveareason why weed A isdifficult to control. (1 mark)
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SECTION C (40 Marks)
N
21.9) Explain ten pre@\uﬂ\ons that a farmer should observe when using farm chemicals. (10 marks)
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P c) Explain five effects of liberalization of farming in Kenya. (5 marks)



